Kelly – Econ 101


Economics 101

Spring 2005
Homework #1.

Answer Key
1.  Solution:

a.  The drawing is as follows:

b.  There are several ways of getting the equation.
The simplest one is as follows. We are looking for the equation of a line which always have the following form: Y = m . X + b. Then, we are looking for the m and b values. Since both the points A and B are on the line, then:

2 = m . 2 + b

6 = m . 4 + b

Consider the first equation. Then:

2 – 2m = b

Plug that value of b into the second equation:

6 = 4m + (2 – 2m )
Then:

6 = 4m + 2 – 2m
6 = 2m + 2
6 – 2 = 2m + 2 – 2
4 = 2m

Finally:
m = 2

Then:

2 – 2 . 2 = b

2 – 4 = b

b = –2

In this way, the equation of the line is given by:

Y = 2X – 2
This is just one possible way of solving it. If you are used to another one, that’s fine.
c.  The slope is the value we called m before. Then, the slope is 2.

The Y intercept is the value we called m before. Then, the Y intercept is –2.

The X intercept can be obtained by asking: For which value of X it is true that the value of Y is 0? We can express that question as follows:

0 = 2X – 2
2 = 2X

1 = X

X = 1

The X intercept is 1.

d.  
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e.  We have the following equations:

Y = 2X – 2
Y = 7 – X

The intersection will be given by:

Y = Y

2X – 2 = 7 – X

2X – 2 + 2 = 7 – X + 2

2X = 9 – X

2X + X = 9 – X + X

3X = 9

3/3 . X = 9/3

X = 3

We can obtain now the value of Y in the first equation or in the second one. We’ll try with the first one:

Y = 2.3 – 2
Y = 6 – 2
Y = 4

We can check now with the second one:

Y = 7 – 3

Y = 4

Then, the intersection is found at the point ( 3 , 4 )
2.  Solution:

a.  If Andreu packs 100 brats in a given hour, then he would have missed the chance of packing 50 pizzas in that same hour. Then, for each brat he packed, he missed the chance of packing one half pizza. The opportunity cost of packing one brat for Andreu is then packing half a pizza. Then, the opportunity cost of packing one pizza for Andreu is packing two brats.
b.  If Jerry packs 75 brats in a given hour, then he would have missed the chance of packing 75 pizzas in that same hour. Then, for each brat he packed, he missed the chance of packing one pizza. The opportunity cost of packing one brat for Jerry is then packing one pizza. Then, the opportunity cost of packing one pizza for Jerry is packing one brat.
c. Andreu’s production possibility frontier:
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d.  Jerry’s production possibility frontier:
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e. Well, let’s start with Andreu. It takes him 18 hours to pack 900 pizzas and 6 hours to pack 600 brats. Then, Andreu would need 24 hours.

It would take Jerry, in turn, 12 hours to pack 900 pizzas and 8 hours to pack 600 brats. Then, Jerry would need 20 hours.
As a result, Jerry can do these things in less time.

f. Well, Andreu takes less time to pack brats and Jerry takes less time to pack brats. Then, you would hire Andreu for 6 hours, so he packs 600 brats and Jerry for 12 hours, so he packs 900 pizzas. In total, you have to pay for 18 hours of work.
3. Solution:


a.  Production possibility frontiers:
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b. In the case of Wisconsin, the opportunity cost of 1 book is 1/3 chip. In the case of Idaho, the opportunity cost of 1 book is 2/3 chip.
c. In the case of Wisconsin, the opportunity cost of 1 chip is 3 books. In the case of Idaho, the opportunity cost of 1 chip is 1.5 books.

d. Wisconsin has the comparative advantage in books. Idaho has the comparative advantage in chips.

e.  Idaho has absolute advantage both in chips and books.
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